Bureaux réglables pour debout et assis









Debout image de bureau:

Fertect the details of the design

Limnit gwitch in the columns and different comroiner
Exchusive patent design for details

Mare converient to tear open outfit .



P!
wavy o

Lightly Nt Lo Latmon s babd the

Ab Series Dual-motor Three sections

2 legs / 2 motors
Super mute motor synchronization control systerm
Colours can choose Black White and silver gray
Limit Switch inside

Touch screen memory handset

Lifting range from 620mm-1270mm
Frame adjust from 1100mm-1600mm
Load capacity; 120kg / 265IBS

Full Ipad Speed: 30mm,/'s

Input Voltage : AC 90V-230V can use
Qutput Voltage : DC 24V

Duty Cycle : Max.10%

Run into obstacles will stop

-
4
.-

-

holen on the wde Brmirad chapaliy wrsen

H:“MH-NIHW
VADMHL bmimin, cuecily rebbass 1o dETLain beign THwwn e deiiog] 1 ihe ol diet hespa

W7 s e Pl het Wy on S ooy, deed sosnch BT jut mamey T

el by seimain wl riarge e ﬁw

e,
WS RAE R 0 | ek ey, e sl KT o
Tom, i1 con b wr whas Pop dhphiy Wsrm e

diripliy wireen
dhmplary hedght A030-1 1 T0mn / o choote 3 48- 300 inadsithot dwkiop)

Ergo Zero Console Instruction

i g el g 1 Tt T b i
Fach el oy i i @

e AT FHVROTp PRI, I wad Pkl
ey vwy v sprpraiy For rmeery Sy e
[y rE———, . e hakd

aotings
For by e L iy Fior ey Py sodtas

drapay 1 e
ey g A0 L] Theww | o chasaes 14 40 D raciveleerhann deEesd

vt et el T by o b v o pmos b Rekewss &

Pt asl P T by, B s et ] st il oy Bbbnrior

Mgy 3l aper g

ok upidows bmon wd hobd the ey to = s o e Stk bagin
HETU fu P o, ip roimasn b Lord e gl Timmwnlmtsd Gestieg] 50 he roresd dest Seg i
L Al prwas e Pl Krah iy B 1 Baadl, Pl Mot T ) Ay D OIS
el ity RIS W ETEAGE o
o i, dapley uries aed o8 Pl s,
.-gﬂ Hmunuul,-ruw...q B ey, e Wl ik
!
£ e, @ pims mual L el o P o b, "o i o bk il sl

£

i
siif
it

£

1
i
i
i
i
L

i
|

b
e

i

i drubip gmened by
o ok P



Tuned eight with a socket head screw to the middle
hole location as the reference point, need adjust the
table frame length is standard, lock screw.

—_ g
= C L] ~ 9} - . = r
g — = 3
e ar—
= - L] N - s, il | — 8 = =
5 ¢ — 5
=7 i 167
— :::-

1. According to the demand of the panel adjust the frame length

2Install table legs (2 PCS) and horizontal tube (2 PCS)

After horizontal pipe and adjust the longi- {
tudinal GuanPing on smooth surface, as | |
shown in figure to add two legs at the top
square tube (threaded hole alignment), then
use the M8 * 10 screw locking (6 PCS)




Put the feet fastening on the desk legs
with M8 *25 (4 PCS) screwsX

3 : Install desk feet(2pcs).

First of all, Installation controller fix with M6 * 10 screws (4 PCS) , then
put controller from one side inserted into the fixed block

4 : Installation controller



Ensure can be use after Plug in the power supply




Fixed a controller
1PCS

Part drawing

1)

Feet 2PC5 : —

Sy

Control box 1PCS
Long tube 2PCS C. Lﬁﬁ = _~.:>
— _:: _::g

Sim —————— —m(EF Motor wires 2PCS

@: —m=

M6X10 4PCS

M8X10 12PCS
M8X25 8PCS

Switch 1PCS



